LOADS ON SUPPORTING STRUCTURE

%, | boor MAX UNIFORM LOAD EACH JAMB
o | HeiGHT (PLF)
16'—2"| ALL +92.2/-102.7

SECTION QUANTITIES AND SEE NOTES 1
& 2 THIS SHEI GLAZING
OPTIONS.

STATIC PRESSURE RATINGS

APPROVED SIZES

DESIGN PRESSURE(PSF): +11.4/-12.7

MAX WIDTH: 16'-2"

MAX HEIGHT: 24'—1"

IMPACT/CYCLIC RATED: NO

MAX SECTION HEIGHT: 24

ET FOR

N

8

7 I

O

W

‘\\SIONA\_

4 J.C.VOELKEL

133174
.(/ gO
6‘ JCENS

fﬁ

A ROt o

odper

¢

Rt

Digitally signed by

John Christian

8 7 6 4 3 | 1
REVISIONS
[> NOTES ® [ DATE APPROVAL |
1. STANDARD GLAZING OPTION — .125" WLOOS | V] La4z2081 1 TLC
MINIMUM DSB GLAZING MEETS UNIFORM STATIC Y [4c27/21 ] TLC
DESIGN PRESSURES SHOWN ON THIS DRAWING.
GLAZING SHALL HAVE A MAXIMUM HEIGHT OF
6.70° AND A MAXIMUM LENGTH OF 24.00".
GLAZING IS NOT IMPACT RESISTANT AND DOES
NOT MEET THE REQUIREMENTS FOR
WIND—BORNE DEBRIS REGIONS. 13 GA HORIZ ANGLE
2. ALUMINUM FULL VIEW OPTION — ALUMINUM \ € DOOR |
FULL VIEW SECTION MAY REPLACE ANY
SECTION EXCEPT TOP AND BOTTOM PANELS.
ALUMINUM FULL VIEW SECTION SHALL HAVE
RAILS AND STILES OF EXTRUDED ALUMINUM ﬂ 1
ALLOY 6083—T6 WITH A 2" INTEGRAL FIN AND 15 GA MIN HORIZ —_ |
125" MINIMUM DSB GLAZING INSTALLED WITH TRACK W .
ALUMINUM_ RETAINERS IN ORDER TO MEET - " b
UNIFORM STATIC DESIGN PRESSURES SHOWN 13 GA CONTINUOUS ) i e
ON THIS DRAWING. AFV PANEL SIZE IS WALL ANGLE \ i ! >
47.5"x21.9" (MAX). GLAZING IS NOT IMPACT =1l . / '0' <
RESISTANT AND DOES NOT MEET THE HPy 38
REQUIREMENTS FOR WIND—BORNE DEBRIS 15 GA MIN VERT —~_ | H
REGIONS. TRACK : 20 GA CENTER STILE S
. []
3. MINIMUM OF 1° OVERLAP ON BOTH JAMBS 5 /16715 /8" a H
REQUIRED TO MEET NEGATIVE DESIGN LAG SCREW AT ehen — T 1H H
PRESSURES. W 31 o
HOLE LOCATION FOR N
WOOD SUBSTRATE. SEE ;
4. SLIDE LOCKS OR OPERATOR REQUIRED. D SR et ‘ : |
5. SECTION STEEL TO HAVE THE FOLLOWING TO OTHER SUBSTRATES. ; Vi kd
MINIMUM_THICKNESS: i
421, 423 — 20 GA . 0
427, 429 — 24 GA H e g,
434, 438 - 25 GA 1/4-20x8/16" TRACK— ﬂ .
BOLTS AND 1/4—20 HEX 20 GA END STILE :
6. THE DESIGN OF THE SUPPORTING
STRUCTURAL ELEMENTS SHALL BE THE NUTS AT EACH TRACK . o]
RESPONSIBILITY OF THE PROFESSIONAL OF CLIP LOCATION H ~
RECORD FOR THE BUILDING OR STRUCTURE (SEE DETAIL A SHEET 3) i 7 I
AND IN ACCORDANCE WITH CURRENT BUILDING _/ ¥
CODES (GOR THE LOADS LISTED ON THIS 11 GA TRACK CLIPS o4 / T
(WELDED, BOLTED, OR = b
7. TRACK CLPS SHALL BE LOCATED WITH RIVETED 7O WALL e
CENTERLINE OF BOTTOM CLIP SPACED 10" ANGLE) SEE NOTE 7 AND |
MAX FROM BOTTOM OF TRACK AND REMAINING DETAIL F SHEET 3 ] O
TRACK CLIPS SPACED AT 24" O.C. MAX. SUDE LOCK BOTH ENos— ||| H - 1 2
SPACING BETWEEN TOP TRACK CLIP AND (NOT REQURED WITH
SPLICE PLATE SHALL BE 30" O.C. MAX. OPERATOR — SEE ) E©)
4 °
8. WHEN MOUNTING TO WOOD, DOOR JAMB TO H
BE MINIMUM 2x6 STRUCTURAL GRADE LUMBER. H "
REFER TO JAMB CONNECTION SUPPLEMENT H Lke:
FOR ATTACHMENT TO SUPPORTING
STRUCTURE.
: o
NOTE:  (4) SECTION SOLID DOOR ﬁ : 0 |
SHOWN. SEE SHEET 2 FOR U-BAR ]
SUPERIMPOSED DESIGN PRESSURE LOCATIONS ON_DOORS WITH OTHER

Voelkel
Date: 2021.05.03 THE DOORS ARE DESIGNED AND MANUFACTURED TO COMPLY WITH THE 2018 IRC AND THE 2018 IBC.
10:32:00 -05'00'
TIE]RAVWM‘D OTHER INFORMATION msﬂtmrmam»mmrmmmemrwmmmmmmmnsmumm
AND INFDRMATIDI N.INVIII.E[R]NPART,HAYNDTIGBPIEIIINMV MANNER OR DISCLOSED TO ANYDNE WITHOUT THE PRIDR VRITTEN CONSENT OF OVERHEAD DODR MAHDM lI]]IlSd.I]ﬂ.lREI‘.F
ANVD'TIHSMVINE[RDFMDIISMDTD[PERATEASALMISEB!MHH[R]ZATWNTDUSEHFRMVHMIV'IHIIHTHESPEUF'CVWW uvmnncmm
o e IR OBt S FINISH [ i temetne. e it 3
VHOLE . e VINDLCAD,0P TION CODE 2040
6 LNI'IER 251 +nn4/-m NUMBERS # 25 N/7A ’ T CLARK 1/14/21 “_m;el Ps%‘e-;{ﬁ:){“um‘
vitn w vas |GVER S0 s0nr00s | X 11, [unT OF | i o TAN 114721 -
JE— u XX + 03 g
E) Mreens XXX i oo | MEASRE N/A WPROVED BV S2°D- 411797
USED ON % 1116 ANGLES: £ 5° €A T CLARK 4/27/21 |sows N/A | sexr] of 3
| 4 | 3 | 1


chris
Texas


1/4-20x9/16" TRACK BOLT
AND 1/4—20 HEX NUT

THROUGH THE SLOT IN THE .
TRACK AND TRACK CLIP 4

12 GA COMMERCIAL TOP FRAME
BRACKET WITH 13 GA ROLLER
CARRIER, ATTACHED WITH (4)
1/4—14x7/8" SELF DRILLING
CRIMPTITE' SCREWS

3" STEEL ROLLER WITH 7/16" DIA.
x 9" LONG STEM AND 7/16".
PUSH NUT AT TOP ROLLER
LOCATION. 1/4" MAX BETWEEN
PUSH NUT AND BRACKET.

ADD (2) 1/4-14x7/8" SELF
DRILLING CRIMPTITE SCREWS
(INSIDE OF EACH INSIDE END HINGE,

2" STEEL ROLLER WITH r
5-1/8" STEM AND 7/16” P
PUSHNUT AT EACH ROLLER /
LOCATION.  1/4" MAX H
BETWEEN PUSHNUT AND |
BRACKET OR HINGE ;

14 GA WIDE_BODY END
HINGE To ATTACH SECTIONS
ONE_AND TWO.

oA "WIDE BaDY END
HINGE TO ATTACH
REMAINING SECTIONS. FOR
ALL, ATTACH WITH (4) .
1/+—14x7/5 sa.r DRILLING 7
CRIMPTITE SCRI ;

14 GA WIDE BODY
INTERMEDIATE HINGE
ATTACHED WITH (4)
1/4—14x7/8" SELF
DRILLING CRIMPTITE
SCREWS:

12 GA BOTTOM BRACKET
ATTACHED WITH (3)
1/4-14x7/8" SELF DRILLING !
CRIMPTITE SCREWS (2 THROUGH \
STRUT AND BRACKET)

STATIC PRESSURE RATINGS APPROVED SIZES

MAX WIDTH: 16'-2"
MAX HEIGHT: 24'—1"

DESIGN PRESSURE(PSF): +11.4/-12.7

IMPACT/CYCLIC RATED: NO MAX SECTION HEIGHT: 24

X—(z) 1/4—14x7/s SELF DRILLING
CRIMPTI

HALF HINGE
(2) 1/4 x 1/2°

CARRIAGE BOLTS AND
1/4" FLANGE NUTS

ATTACH U-BARS WITH
(2) 1/4—14x7/8" SELF

DRILLING CRIMPTITE SCREWS
AT ALL STILE LOCATIONS, TYP.

s\\\\\\
\
Is \

EOF

ANY

-"
4 J.C.VOELKEL ¢

TI'E]RAVWANDALL
AND INFDRMATIDI N.mvm.:mmpm,mvum!mmmmwnm
DF THIS DRAVING OR_INFORMATION IS INTENDED

S

ceqeecccstctiecttscccncecsess g

b 133174 ‘ed——

8 7 |

' & ; .... QI’ REF_DWG
W Oxz; LICENSED- O\é" ‘&

“ LTI “ -
W SSIONAL B e
\\\\Q\s

(12) SECTION DOORS WITH:
(13) 3" 20 GA 80 KSI U-BARS

(11) SECTION DOORS WITH
(12) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(10) SECTION DOORS WITH:
(11) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(9) SECTION DOORS Wi
(10) 3* 20 GA 80 KSI U—BARS
LOCATED AS SHOWN

(8) SECTION DOORS WITH
(9) 3" 20 GA 80 KS| U-BARS
LOCATED AS SHOWN

(7) SECTION DOORS WITH
(8) 3" 20 GA 80 KSI U—BARS
LOCATED AS SHOWN

(6) SECTION DOORS WITH
(7) 3° 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(5) SECTION DOORS WITH
(6) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(4) SECTION DOORS WITH
(5) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

OTHER INFORMATION CONT/ AND PROPRIET/

LOCATED AS SHOWN

OVERHEAD DODR
IC_VRITTEN

ARY Wﬂrwmtmmunmmumrrsmmm
ANYDNE VITHOUT THE PRIDR VRITTEN OF

DISCLOSED T CONSENT MAT.IDN. mnm.usunnr
TD[PERATEASALMISE[RMII‘HIR]ZATII]NTDLISEHFRMVHIPBIV‘IHIII‘I’THESPEW IIIISBIT I‘.IVERH DOOR

CORPORATIDN.

The Gemmine. The Cvigind. DATE
e, e mu.mn OPTION CODE 2040
P My o | M R | 1714721 IES 421/423/427/429/434/436,
o Yoy v ore PoF, toroas Hak
J QIAN 1/14/21 g
N/A ‘APPROVED BV, & D- 411797
T CLARK 4/27/21 |ows N7A [see o= 3



chris
Texas


MIN 3/16” THICK
STEEL FOR MOUNTING

MOUNTING WALL ANGLE:

RUBBER GASKET
1/8" ANNEALED DSB GLASS (MIN)
E6OXX MIN. DLO= 5°x20

TRACK CUP

1/4—20x9,/16"
TRACK BOLT AND
1/4-20 HEX NUT

OPTIONAL; WALL ANGLE MAY BE ATTACHED TO
SUPPORTING STEEL WITH MIN. (1) 1/4—20x7/8"
SELF DRILLING SCREW WITH 1" 0.D. WASHER AT
EACH HOLE OR PAIR OF HOLE LOCATIONS IN

TRACK LIEU OF WELDING
MOUNTING TO STEEL DETAIL
RUBBER FRAME GASKET
(NON—INSULATED DOORS)
5/16"x 1-5/8" LAG
SCREW AT EACH HOLE
\TION FOR WOOD
SUBSTRATE.
MOUNTING WALL ANGLE-
TRACK CUP
PLASTIC FRAME ‘W/;zo‘iﬁ" {ﬁg
1/8" ANNEALED DSB GLASS (MIN)

DLO= 5 3/4"X22 7/8" TRAK
(10) #8X2" SHEETMETAL SCREW

(1) PER VERTICAL FRAME LEG

(1) PER HORIZONTAL FRAME LEG

FoAM TAPE 3/8" SIMPSON TITEN HD, 3/8" SIMPSON TITEN HD,
2-3/4° MIN_EMBED INTO 2.3/4° MIN EWBED 0 INT
ALUMINUM FULL VIEV FRAME N D e onareTe AT EACH HOLE OR PAIR WALL ANGLE FACING
OF HOLE LOCATION. OF HOLE LOCATION: INWARD
ALUMINUM F VIEW FRAME MOUNTING WALL ANG
TRACK CUP . TRACK CUP
Mhm g‘) M%
1/4-20 HEX NUT- 1/4-20 HEX NUT.
CONCRETE MOUNTING DETAL — ANGLE OUT CONCRETE MOUNTING DETAIL — ANGLE IN
CONTINUOUS
WALL ANGLE: TRACK

o MIN 3/18" THICK

\ STEEL FOR MOUNTING
(2) 1/4" x 7/18] \ MOUNTING WALL. ANGLE: 2-24 (egoxx MiN.
SEMI TUBULAR : :
RMTS OR (2) ! l TRACK CUP. OPTIONAL: WALL ANGLE MAY BE ATTACHED TO
Horrs M aoTs ! St S g S o e
BOLTS WITH NUTS™, 3 1/4-20 HEX NU ;

EACH HOLE OR PAR OF HOLE LOCATIONS IN
OR (2) .28" DIA TRACK TRACK UEU OF WELDING

MOUNTING TO STFFL. DFTAL
RESISTANCE SPOT cLP
WELDS
DETAIL F
P ZU SRt 4l'4 )
’% *° ®e, 6\ '
A =3 N
o .
’, * " "'
* .
"":"Ol'"""0"-""000.'"' THE DRAVINGS AND ALL OTHER INFORMATIDN CONTAINED HEREIN ARE THE CONFIDENTIAL AND PROPRIETARY PROPERTY OF DVERHEAD DODR CORPORATIDN AND ITS AFFILIATED COMPANIES. THIS DRAWING
J C VO ELKEL A AT BF TS TRAVING. ¢ DECRMATICN 1§ TATENDED T0 DPERATE. 45 A LICENSE R, AUTHOGZATIN 10 St 11 TR AN PURPDSE UITHOUT THE SPELIFIE GRUTIEN CNGENT i DVERIEAD DULR CORPLRATION
STATIC PRESSURE RATINGS APPROVED SIZES ‘ . U, o 3 ey S — — R
. 1_ow ®eeeccsccccccccscecsssccsccccne N WVHOLE TRAVN 3V WINDL DAD,OPTIO
DESIGN PRESSURE(PSF): +11.4/-12.7 mi :"E[I’;:T 1:4,_21_ ¢ - s ’ P NagERS: ¢ 23 N/a i T CLARK Va1 (SRS sy aeasae/aessaansese,
. ‘ <" 1 33 174 o Q.’ XX + .03 UENESUEE J GIAN 1/14/21
IMPACT/CYCLIC RATED: NO MAX SECTION HEIGHT: 24] ' o % Ry P — XXX .00 N/A oV o W D- 411797
o 0 . g —F e ANGLES: % 5° EA T CLARK 4/27/21 |scws N/A | seer3 or 3
d

WOSIONAL B

s

(RN ) i
8 7 | Y o CENS@-‘@\, T 2 3 2 | 1



chris
Texas


		2021-05-03T10:32:00-0500
	John Christian Voelkel




